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allowed to transmit one packet per clock tick. when variable-size packets are used. a fixed
number of b)des are then allowed to be transmitted per clock tick.

For example: Let's say the fixed number of bytes allowed is 1024_ And here,s the sizes
of packets in the following sequence: A-1024, 8-512, C-256, D.768, E-256, ...

1st clock tick - Packet A goes through.
2nd clock tick - B goes through, and now there is 512 bytes more allowed in the same

tick so G also goes through. Now, 768 have been transmifted and 256 remain forthis tick.
However, D is biggerthan 256 bytes so it has to wait till the next tick.
. 3rd clock tick - D goes through, and 256 bytes remain. Now E also goes through since its

size is <= 256 bytes.

This converts a potentially uneven flow of packets from user processes into an
even flow onto the network, eliminating bursts of packets and avoiding network congestion in
the orocess.
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